UK

B Dumbbell Bench
Assembly Instructions

We are committed to providing you with acomplete and enjoyable
shopping experience. If you have any questions, please contact our
customer service team.

email: service@amzsupport.shop

1


https://manuals.plus/m/48d35b3f14728bb5ad0675b441d097e20a8af67a8eb9d811798f95b2d647fa80

Parts Diagram

(B)

— Y—m— ~____ |
@@T ' @CE=

(G215 €

Jie
/77 D G




%
\I|T

O 1pcs O 1PCS ® 1PCS

C—op - —=o (@

® 1pcs O 1PcCS @ 4pPcs

© 2SET
(]
Attachment list
@ — wmoxes2ecs @ OMi0 3PS @ 2PCS
® ~— wmoxeoircs @ M8 2rcs B A 6MM IPCS
€© , Moxsoircs €@ © MO 6pPCS  (E) =< 13/17 1pcs
O  wmsxe5 2pcs ) = M8 2PCS
@ .~ wmoxsssrcs L & M0 IPCS

3



1. Use 4, 9, and 7 to combine parts C and D.
2. Use 2, 8, 6, and 5 to combine parts B and C.
(a] (o] (7] (2] (8] (6] (5]
M8X65 2PCS|M8 2PCS|M8 2PCS| M10X60 1PCS|MIO0 2PCS|MI10 1IPCS| MIOX55 1PCS

1. Use 1, 8, 6, 5, 11 to combine parts A and B.
o (8] 6] (5]

- | © | @ | A~

MI0X65 2PCS M10 4PCS M10 2PCS MIOX55 2PCS ~ 2PCS

4



1. Use 3,10, to combine E and C.

(3 ©
—m @

MI0X 80 1PCS M10 IPCS

-Yo A

1. Combine
component F with
components B and E
respectively.




1. Combine part G with part A

Assembly Complete

Made in China

Manufacturer

Shenzhen Xiaojiangnan Technology Co., LTD

Galaxy World A2406, No. 1, Yabao Road,

CE Z &3 &5

UK REP

Business Name:River Source Distribution Limited
Address: Unit 39 St Olavs Court, City Business Center

Address Bantian Street, Longgang District, Shenzhen, Lower Road, London SE16 2XB United Kingdom
China, 518000 Email: Chriswang0610@outlook.com
Business Name:AMZ ECREP SL

EU REP Address: Calle Gran Via 49,7 Dch.Madrid 28013 Spain DoC link:www.doc-files.com

Email: service@xzysupport.com

6




B Istruzioni di montaggio
della panca con manubri

Ciimpegniamo a fornirti un'esperienza di acquisto completa e piacevole.
Se hai domande, contatta il nostro team di assistenza clienti.

E-Mail : service@amzsupport.shop

25



Schema delle parti "

(B)

) —————————
S =ge== "~

(@25

e
7/ D G

26



Elenco delle parti "

—_— = =

O 1pcs O 1PCS ® 1PCS

o - —=o (@

® 1pcs O 1PcCS @ 4pPcs

S
© 2SET
Elenco allegati

© = wmoxes2ecs (@ DM 3PCS (D o 2PCS
® ~— wmoxeoipcs @ M8 2rcs B A 6MM IPCS
€© , MoxsoiPcs €@ © MO 6pPCS (&) =T 13/17 1rcs
O  wmsxe5 2pcs ) = M8 2PCS
@ . wmoxsssrcs L & M0 IPCS

27



1. Usa 4, 9 e 7 per combinare le parti C e D.

2.Usa 2, 8,6 e 5 per combinare le parti B e C.
0 (] (7] (2] (8] (6]
M8X65 2PCS|M8 2PCS|M8 2PCS| M10X60 1PCS|MIO0 2PCS|MI0

IPCS| MI0X55 1PCS

1. Usa 1, 8, 6, 5, 11 per combinare le parti A e B.

o

MI0X65 2PCS

(8]

©

M10

4PCS

(6]

im

M10

2PCS

5]

%9

MI0X55 2PCS

28




1. Usa 3,10, per combinare E e C.

o—= &
MI0X 80 1PCS M10 1PCS
o W4
1. Combinare il

componente F
rispettivamente con i
componenti B ed E.




1. Combina la parte G con la parte A

Montaggio completato

Made in China

Manufacturer

Shenzhen Xiaojiangnan Technology Co., LTD

Galaxy World A2406, No. 1, Yabao Road,

o~ UK
e ca

CE X

UK REP

Business Name:River Source Distribution Limited
Address: Unit 39 St Olavs Court, City Business Center

Address Bantian Street, Longgang District, Shenzhen, Lower Road, London SE16 2XB United Kingdom
China, 518000 Email: Chriswang0610@outlook.com
Business Name:AMZ ECREP SL

EU REP Address: Calle Gran Via 49,7 Dch.Madrid 28013 Spain DocC link:www.doc-files.com

Email: service@xzysupport.com

30




